RUSTIC TOP MOUNT

Fitting Instructions

KIT CONTENTS

Track Wall Spacers
2m kit (x 5)

~ g )

> )
J

: ST6 x 40
M8 x 85 3m kit (x7) Flush Pulls amkit (x4)
2m kit (x5) 2mkit {x2) 3mkit (x4)
3m kit (x 7) 3m kit (x2) )

M8 x 60 Track
2m kit (x 5) 2mkit (x 1) =
3m kit (x 7) 2m kit (x 1) Top hz/lou;:et: Hza)ngers
m kit (x
3mkit (x2)

—

M8 x 25 M8 x 25
2m kit (x 5) 2m kit (x 5) Track Stop .
i i 2m kit (x2) Anti-Jump Cams
3m kit (x 7) 3mkit (x7) .
3mkit (x2) 2mkit (x2)
3m kit (x 2)

* Alternative track fixings provided depending on wall type

ST4.2 x 25
2m kit (x 2)
3m kit (x 2)

£

¥
Wall Plug
2m kit (x 2)
3m kit (x 2)

Guide
2mkit (x 1)
3m kit (x 1)

TOOLS REQUIRED
Screwdriver Sﬁ
b Tape
5:/// Measure

—
= 1
\ Spanner M
Pencl Drill Bits




STEP BY STEP FITTING INSTRUCTIONS

STEP 1: Mark and drill fixing holes.

: 1. 450mm | 450mm ! |
:Q\pﬁ_**“’. 450mm ;

, e T
f B
- 150 g
- +
& T
=3 (=)
& ¥ "
!
& () +
= " ]
& T *
] =} 5
5 E
2 DOOR o 4
g WIDTH (DW) ¥ =
& i I °
o]
g S
° g
OPENING =
WIDTH (OW)
o
\J * ]
DW = OW + 40* + 40* *PCH suggests 40mm overlap of the dooi
(DW = OW + 80) ]
to the opening.
I
1 450mm | 450mm | 450mm | 450mm |
: ' : . '
|
| ——— 2 S S 1 =
r‘ g +-x _,r____*__.,,g_ﬂ.[‘
Y =1
‘ N
A —» |«50mm
H
' £
1l
@ &
& ~
o I
r4 o o
z [¢]
o
2M Track 9.
6 Note: Drill diameter should
= be correctly selected to suit
fixing type
wil v ——m
I
450mm

450mm | 450mm |
< >

| S S | L | |
N S a SR b
1 Y
|
'
A e :<~,’w()mm
|
B £
= R
b i
& 5
3M Track o
g Note: Drill diameter should
= be correctly selected to suit
fixing type
y
v \—-———-"‘_1

STEP 2: Fix M8 screw inserts, spacers and track to wall.

(x5) 2M
% (x7) 3M
MASONARY /
° }%@
or

Qe Not PCH
&.

r.;ai

(x7) 3M

2
Mg %

TIMBER/PLASTER

R

It is the installers responsibility to ensure the
correct fixing/wall insert is suitable to be used,
depending on wall type/quality. The structure of
the wall must also be able to take the weight of
the system.




STEP 3:Fix hangers to door, aligning front of hanger
to front of door (see diagram in step 6).

STEP 4: Floor guide routing detail.

20 min.

/

s

STEP 5: Fit anti-jump cams.

STEP 6: Hang door and adjust anti-jump cams.




STEP 7: Fit floor guide.

on -
I
Q ®

3
i il

26

\/

STEP 8: Fit and adjust door stops.

STEP 9: Flush pull routing detail.

STEP 10: Fit flush pull handle.




